Beziehungrgb* und relativeBuntheit c*,gp+ oder Buntheit a* gy, b*rgor
System: 935137 - Cygpe = Max (gb*) — min (rgb*)
Ergebnis: ¢ rgb* = Clab; Prgbr = Hlapr n* =1 - max (gb?) = 1 —i*

w* = min (rgb*) = 1 —-d*

habd:[37 96, 150, 236, 305, 353] |,
Tt ge =W+ 0,5C*gor

hap,e= [26, 92, 162, 217, 272, 329]
agpr = Crgpr COS hyy
D gy = Crgpe SN gy

relative Buntheit a*ygp




Beziehungrgb* und relativeBuntheit c* gy, oder Buntheita* e, b* g+
Syslem_: TLS00 g+ = Max (gb*) - min (rgb*)
Ergebnis: C*rgb* = Chat Prghr = Hiapr n* =1 - max (gb?) = 1 —i*

w* = min (rgb*) = 1 —-d*

habd:[AO 102, 136, 196, 306, 328]p 5
[26, 92, 162, 217, 272, 329] — 90" trgpe =W* +0,5¢% gpe

hap,e=

agpr = Crgpr COS hyy
D gy = Crgpe SN gy

relative Buntheit a*ygp




Beziehungrgb* und relative Buntheit c* gy« oder Buntheit a*gye, b* gpe
Syslem_: FR*SOB - - g+ = Max (gb*) - min (rgb*)
Ergebnis: ¢ rgb* = Clab; Prgbr = Hlapr n* =1 - max (gb?) = 1 —i*

w* = min (rgb*) = 1 —-d*

habd:[sa 91,143, 231, 312, 337 1,
Tt ge =W+ 0,5C*gor

hap,e= [26, 92, 162, 217, 272, 329]
agpr = Crgpr COS hyy
D gy = Crgpe SN gy

relative Buntheit a*ygp




Beziehungrgb* und relativeBuntheit c*,gp+ oder Buntheit a* gy, b*rgor
System: jl'S}lB - Cygpe = Max (gb*) — min (rgb*)
Ergebnis: ¢ rgb* = Clab; Prgbr = Hlapr n* =1 - max (gb?) = 1 —i*

w* = min (rgb*) = 1 —-d*

habd:[34 103, 136, 196, 304, 328], .
Tt ge =W+ 0,5C*gor

hap,e= [26, 92, 162, 217, 272, 329]
agpr = Crgpr COS hyy
D gy = Crgpe SN gy

relative Buntheit a*ygp




Beziehungrgb* und relative Buntheit c* gy« oder Buntheit a*gye, b* gpe
Syslem_: NESOO - - g+ = Max (gb*) - min (rgb*)
Ergebnis: ¢ rgb* = Clab; Prgbr = Hlapr n* =1 - max (gb?) = 1 —i*

w* = min (rgb*) = 1 —-d*

o = 29, 89, 150, 209, 270, 330] 1,
190" ¥ e = W* + 0,5C* gpr

hap,e= [26, 92, 162, 217, 272, 329]
agpr = Crgpr COS hyy
D gy = Crgpe SN gy

relative Buntheit a*ygp




Beziehungrgb* und relativeBuntheit c*,gp+ oder Buntheit a* gy, b*rgor
System: !\leSl& - Cygpe = Max (gb*) — min (rgb*)
Ergebnis: ¢ rgb* = Clab; Prgbr = Hlapr n* =1 - max (gb?) = 1 —i*

w* = min (rgb*) = 1 —-d*

hap = [30, 89, 149, 210, 270, 329] 1,
190" ¥ e = W* + 0,5C* gpr

hap,e= [26, 92, 162, 217, 272, 329]
agpr = Crgpr COS hyy
D gy = Crgpe SN gy

relative Buntheit a*ygp




Beziehungrgb* und relativeBuntheit c*,gp+ oder Buntheit a* gy, b*rgor
System: tSR*5187 - Cygpe = Max (gb*) — min (rgb*)
Ergebnis: ¢ rgb* = Clab; Prgbr = Hlapr n* =1 - max (gb?) = 1 —i*

w* = min (rgb*) = 1 —-d*

hap = [30, 89, 149, 210, 270, 329] 1,
190" ¥ e = W* + 0,5C* gpr

hap,e= [26, 92, 162, 217, 272, 329]
agpr = Crgpr COS hyy
D gy = Crgpe SN gy

relative Buntheit a*ygp




Beziehungrgb* und relativeBuntheit c*,gp+ oder Buntheit a* gy, b*rgor
System: TL§7O - Cygpe = Max (gb*) — min (rgb*)
Ergebnis: ¢ rgb* = Clab; Prgbr = Hlapr n* =1 - max (gb?) = 1 —i*

w* = min (rgb*) = 1 —-d*

habd:[ZI 107, 142, 197, 293, 326], .
19Dt gr =W + 0,50 g

Nap,e= [26, 92, 162, 217, 272, 329]
agpr = Crgpr COS hyy
D gy = Crgpe SN gy

relative Buntheit a*ygp




